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INTRODUCTION
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INTRODUCTION

Various modes of Communication which are available on the
network are
* Point to point.
o Broadcasting.
8 Multicasting.

transfer between the group of nodes in the network.

Multicasting provides the exact Solution for the above problem
We can communicate with a group of computer nodes in the network
which are registered to the network as authorized users.



PROPOSED SYSTERM AND 1TSS
ADVANTAGES



ur major
Criteria and the biggest advantage is that We provide secured means
of data transfer N an effective way by Compressing it ang sending

Is  being
transmitted.

* Compression technique provides an

effective utilization of
the bandwidth_

(A}
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PRODUCT DEFINITION



2.1 PRODUCT DEFINITM

WHAT IS KBMS?

2.1 Multicasting:

Definition:

W



ps

Transposition Cipher.
Substitution Cipher.
Swapping Cipher.
Classical product cipher.

For the process of encryption we obtain the key from the

world famouys Tamil literature “THIRUKURAL”.

Algorithms for Encryption and Decryption:
2.1.2.1 Transposition Cipher:

Split the plain text into number of numper of words
with n length each.

Reverse each word.

Store the Words in an “‘n*m” matrix in column wise
manner.

Retrieve the Characters in row wise manner ang

Concatenate gjj the rows.

The final string which s Obtained is the Cipher text

Do the same steps in the reverse order we would
the plaintext back.

month and year.



Take the modulo of 1330 for the above ard store it

in a variable.

* Obtain the current time and convert fully into
Seconds and then to milliseconds.

* Take the modulo of 1330 for that millisecoends and
store it in variable.

* Add both the results and the obtained resyj is the

random number.

2.1.2.2 Substitution Cipher:
* Get the plain text and pass it to the transposition
Cipher algorithm.
e Obtain the cipher text of transposition cipher and
treat it as the plain text of Substitution.
* Using the below formula, obtain the Cipher text of
the substitution Cipher.
Ci=Pricode [Pi+KEYi]
Where KEY=Random number,
i=Range from 1 to length of plain text,
C=Cipher text,
P=Plaintext,
Prlcode:{A-Z,a—z,O-Q,” 58
* Repeat the above steps in the reverse order to
obtain the plain text back.



2.1.2.3 Swapping Cipher:

Obtain the plain text, count the number of WOrds in and
store them in an array.

Now divide the word count valye by 2 and reverse each
word which is stored in the array.

In the Output (Cipher Text) place the nth word in the first
position and the (n-1) word in the Second position and so
on.

In the decryption process do the same steps in the
reverse order.

2.1.2.4 Classicalproductcipher:

and store it in an array.

Now obtain 3 random number from the random number
generation algorithm.

Then  obtain the appropriate  kyraj from  the
“THIRUKURAL” database which acts as the key.

Next get the first character of the plaintext ang first
character of the selected Thirukura.

Then obtain the equivalent code of these letters from the
Prl code and add them and find the modulo 64 value ang
we will get a number.

Obtain the appropriate character from Prl code according
to the number Obtained.



* Repeat the process until all the Characters in plain text
are decrypted.

* In the reverse process of the Same steps we would get
back the plain text again.

* Again encrypt 16 times using Classical product cipher
Algorithm.
* The final output is the Cipher text.

e For the process of decryption do the above steps in the
reverse order.

2.1.3 Compression:

being is designed for alphabets (upper/lower case), Numerals, speacia]
Characters (“, $).It provides a two pijt Compression when Compared



plaintext.

2.1.4 Intelligent Software:

changes the encryption algorithm for each set of datg.






PROJECT PLAN
—=tL! FLAN

We have formulated g perfect Strategy to do process of
Multicasting the data’s through the network we have also used
encrypted mode of transmission of the data.

plain text.
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The Purpose of

this document
Unambiguoys

is

requirements,
requirements, performance requirements, design constrag;
Other specific attributes.

Specific Requirements:

Hardware réquirements:

Software requirements:

< Wind
Java

Performance Constraints:

Ows 9x/2000 (Server/Ciient) OS with

Depends on the speed of the intranet Connection, nNetwork
traffic ang Client System,.

Design Constraints:

Software Constraints

1. JDK 1.2
2. MS—ACCESS.

10

to describe all



Java s both g Programming language and an
environment for executing Programs written in Java. Unlike traditiona]
Compilers  that Convert the source  code into Mmachine |eyg
instructions, the java Compiler converts Java source code intc byte

11



AWT (Abstract Windowing Toolkit)

Awt acts as perfect tool for the GUI (Graphical User Interface)
in java language. Awt provides a wide variety of components for
building interactive graphical user environment. Here the top level
menu acts as a container class and it has various sublevel
components such as container, panel, window, frame, canvas.

Various Awt components which are available are

e Applets
e Frames
e Window

e Panel

Since applets do not support multicasting we use frames which
are also a top level container which is capable of having all the

components in it.

Frame is also a light weight component which can run any
where; frames also support all the designer components such as

buttons, checkboxes, text area, radio buttons, list boxes etc.

Awt also provides many functions which are built in the
graphics class it has provisions to draw auto shapes such as
rectangle, square, circle etc. We can use these shapes and functions

for the process of building our graphical user environment.

12



JDBC

JDBC is a java API that documents a standard framework for
dealing with tabular and relational data. While JDBC 2.0 begins a
move to make SQL semi permanent to the programmer SQL is still
the lingua franca of the database engines and represents a major
industry victory in the effort to Separate data from code.

SQL is a standardized language used to Create, manipulate
examine and manage relational database. A database is a container

for tables which contains rows columns for holding the data’s.

A database approximates a file system to appreciable level, a
table approximates a file, a row approximates, and a racord or
structure a column approximates a field or variable. Because SQL is
an application specific language a single statement can be very
expressive and can initiate high level actions such as sorting and
merging on an entire set of data. However we must connect o a
database before sending SQL commands and each database vendor
has different extensions of SQL.



M.S.ACCESS XP

MS ACCESS is a user friendly RDBMS. The various
records are stored in an understandable way and the changes can be
made to the tables very easily. The referential constraints and the
data types available which make it very easily to do the restrictions to
the data entry in the tables.

MS ACCESS coding with SQL provides a very user

friendly environment to the user. The storing and retrieving of data’s
is easier.

14



DESIGN DOCUMENT



DATAFLOW DIAGRAM



4.1 Dataflow Diagram
At each session

Get the data’s
from the client

Encrypt and
compress the data

Multicast to the
Specified group
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At login

Get authentication
from the clientg

Yes

Enter into group
enable him to seng
and receive data’s

simultaneously

Exit user

End the
process



TABLE DESIGN




4.2 DESIGN OF TABLES

Kural table:
Serial Kural ]
number(number) (text)
Group data:
Port name [Paddress
text
KBMSTab:

Password
(text)

Username
(text)

Group
name (text)

17



PRODYCT TESTING




PRODUCT TESTING

Unit testing

Any product which is being developed has to be tested in
each every phase of development. Unit testing provides the means
for testing the product at each phase.

We have tested our software in each and every phase of
development, it provides perfect requirement satisfaction. The
product also provides requirement satisfaction even after irtegration
of all the modules.

18



FUTURE ENHANCEMENT



FUTURE ENHANCEMENT

The project has been designed and developed flexibly
according to the current objectives any new additional requirements
may come in the future; this project is modifiable to the future
enhancements.

Future development may be made in the direction of
implementing the same in the internet and providing still more
complex encryption techniques.

19



CONCLUYSION



CONCLUSION

The Knowledge Based Multicasting has significantly provided
Secure and effective means of multicasting the data’s in the network.
It also uses the network bandwidth effectively. The project has
emphasized greatly on our objectives and the resylt obtained is

fruitful and convincing.

20
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SOURCE CODE




/I Classical Product cipher //

import java.io.*;
import PrPack.*:

public class ClsicPrdCyp

{

public String Classic, Cipher, Plain, Key;
public int Len, KeyArrVal[];
public char PriCode[] = {'A', 'B', 'C', 'D’, 'E", G HL YL K L MY,
N';OL'PL QL RS, T U Y, WY KUY 7
L0128 4 5 e T 8 Y a', b, '
d el g L KT, ' me, R o Pl
s ULV, W, X Y 'z'}
public ClsicPrdCyp(int a, String C) throws IOException
{
Classic = C;
Cipher = C;
Len = g;

//Getting the Key from Database
PrPack.SelectRow SRow = new PrPack.SelectRow(Len):;
Key = SRow.GetRow();

//Finding CodeValue for each Character in the Key
char PrArr] = new char[512];
KeyArrVal = new int[Key.length()];
PrArr = Key.toCharArray();
for (int i=0; i<Key.length(): i++)

{
for(int j=0; j<63; j++)
it (PrAnli] == PriCodelj]) KeyArrval[i] = |:
}
}
public String EnCrypt()
{

char PrArr[] = new char[512];

//Adding Key Value
PrArr = Classic.toCharArray();
int k=0;
for (int i=0; i<Classic.length(); i++)
{
if (i > Key.length()) k=0:
for(int j=0; j<63; j++)

0



if (PrArr[i] == PriCodelj])
{

PrAri] = PrlCode[((j+KeyArrVaI[k++])%63)]; break;

}
}
}
Cipher = new String(PrArr);
return (Cipher);

}

public String DeCrypt()

{
char PrAr] = new char[512];

//Subtracting the Key Value
PrArr = Cipher.toCharArray();
int k=0;
for(int i=0; i<Cipher.length(); i++)
{
if (i > Key.length()) k=0;
for(int j=0; j<63; j++)

if(PrArti] == PriCode[j])

{
if (j >= KeyArrValk])
PrArri] = PrlCode[((j-KeyArrVal[k++])%63)];
else
PrArri] = PrICode[63—((KeyArrVal[k++}-j)?/o63)
break;

!

}
}
Plain = new String(PrArr);
return (Plain);

}
public static void main(String Ar[]) throws IOException
{
PrPack.RandGenNo R = new PrPaCk.RandGenNo();
int p = R.GetRnd()%1330:
ClsicPrdCyp ¢ = new ClsicPrdCyp(p, "Hai Sweety how are 1"}
System.out.printin(* -->" + c.EnCrypt());
}

b



/! Program for Swapping Encryption /
import java.io.*;

public class EncrypSwap

{
String SwapStr, Cipher, Plain;

public EncrypSwap(String C) throws IOException
{

SwapStr = C;
Cipher = C;
}

public String EnCrypt()

{
char PrAr{] = new char[512];
String WrdsArr[] = new String[33];

PrArr = SwapStr.toCharArray();
int Start = 0, j = 0:

// For Splitting the String into Words
try
{
for (int i=0; i<SwapStr.length();)
{
while(PrArti++] 1= )}
WrdsArrfj++] = SwapStr.substring(Start, --1);
Start = ++i;
}
}
catch(ArraylndexOutOfBoundsException ArrExcp)

{
WrdsArr(j] = SwapStr.substring(Start);

/Words Splitting End

//Code for Swapping
// For Reversing
for (int i=0; i<=j; i++)
{
StringBuffer WordArr = new StringBuffer(WrdsArr[i]);
WordArr.reverse();

WrdsArt[i] = Wo-rdArr.toString();



//For Swapping

int k=j;

for(int i=0; i<=(j/2); i++)

{
String Temp = WrdsArr[i]
WrdsArrli] = WrdsArr[k]
WrdsArr[k--] = Temp:

3
’

}
//End of Swapping

Cipher = new String(WrdsArr[0])
for (int i=1; i<=j; i++)
Cipher = Cipher.concat(" " + WrdsArrli])

)
)

//System.out.println("Cipher Textis : " + Cipher);
return(Cipher);

}

public String DeCrypt()
{
char PrArnf] = new char[512];
String WrdsArr[] = new String[33];
PrArr = Cipher.toCharArray()
intStart=0,j=0

)

)

/! For Splitting the String into Words

try
{
for (int i=0; i<Cipher.length();)
{
while(PrArr[i++] ="
WrdsArr[j++] = Cipher_substring(Start, --0);
Start = ++i:
}
i

Catch(ArraylndexOutOfBoundsException ArrExcp)

WrdsArr]j] = Cipher.substring(Start);

}
/Words Splitting End

//Code for Swapping

//For Reversing
for (int i=0; i<=j; i++)



StringBuffer WordArr = new StringBuffer(WrdsArr[i]);

WordArr.reverse();

WrdsArt|i] = WordArr.toString();

}

//For Swapping

int k=j;

for(int i=0; i<=(j/2); i++)

{
String Temp = WrdsArr(i]:
WrdsArr[i] = WrdsArr[k]
WrdsArr[k--] = Temp;

)

}
//End of Swapping

Plain = new String(WrdsArr[O])
for (int i=1; i<=j; i++)
Plain = Plain.concat(" " + WrdsArr[i])

3
’

//System.out.println(”Actual Textis: " + Plain);
return (Plain);

/ Program for Sustitutional Cipher //

import java.io.*:
import java.lang.*;

public class SubSt

{

public int b, SubRndNo, Len;
public char PriCode[] = {A,'B,'C,'D,'E F, G, HLL K L
N,O, P QL RS T UL VW Xy 7
0,112,384 6,'7,'8,'9, 'a'. b,
¢, d, e g he 7K 'm n or,
P.'g, T, st VLWL XYz
public String Plain, Cipher, Pr:

public SubSt(String C) throws IOException
{
Pr=_C;

PrPack.RandGenNo Rgn = new PrPaCk.RandGenNo();
Len = (int)(Rgn.GetRnd()%16)

3
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}

public SubSt(String C, int a)
{

Pr=C;

Len = a;

public String EnCrypt()

{
PrPack.CTransPos Ctp = new PrPack.CTransPos(Pr, Ler);
Plain = Ctp.EnCrypt();

char SplitChars|[] = new char[Plain.length()];
SplitChars = Plain.toCharArray/();

PrPack.RandGenNo RNo = new PrPack.RandGenNo();
SubRndNo = (int)((RNo.GetRnd())%Plain.length());

int i.j, Temp;

Temp = SubRndNo:

for (i=0; i<Plain.length(); i++)
{
if (SplitChars[i] == '$")
{
SubRndNo += Temp;
continue;

}

for(j=0; j<63; j++)
if(SplitChars[i] == PriCode[j]) break;

if ((j+SubRndNo) > 62)

SplitChars|[i] = PrlCode[((j+SubRndNo)%63)];
else

SplitChars|[i] = PrlCode[j+SubRndNo];

SubRndNo += Temp;

}
SubRndNo = Temp;

Cipher = new String(SplitChars):
return (Cipher);

]
~.]



public String DeCrypt()

{

inti, j, Temp;
char SplitChars[] = new char[Cipher.length()]

3

SplitChars = Cipher.toCharArray();
Temp = SubRndNo;

for (i=0; i<Cipher.length(); i++)

{
//System.out.print("" + SplitCharsii));
if (SplitChars[i] == '$")
{
SubRndNo += Temp:
continue;
}
for(j=0; j<63; j++)
if(SplitChars[i] == PriCode][j]) break;
it j > SubRndNo)
SplitChars|i] = PriCode[j-SubRndNo]:
else
SplitChars|i] = PrlCode[SB-((SubRndNo-j)%63)];
//System.out.printin(" ----> " + SplitChars[i]):;
SubRndNo += Temp;
}

SubRndNo = Temp;

Cipher = new String(SplitChars);

PrPack.CTransPos Ctp = new PrPack.CTransPos(Cipher, Len);
Plain = Ctp.DeCrypt();

return (Plain);

g

—



//" Program for transposition cipher //
import java.io.*;
import java.lang.*;

public class TransPos
{
public String Pr;
public int i, Len:
private String Cipher, Plain:

public TransPos(int a, String ¢) throws IOException
{

Pr=c;

Cipher = ¢;

Len =a;

public String EnCrypt()

{
String Prart[] = new String[(Pr.Iength()/Len)+1]
i=0;

/' For Splitting the Strings into Sub(Small)Strings
int J;
for(j=0; j<Pr.length()-Len: j+=Len)
Prarri++] = Pr.substring(j, j+Len);
String Tmp = new String();
Tmp = Pr.substring(j, Pr.length());
if (Tmp.length() <= Len)
{

for(int k=Tmp.length(); k<Len; k++)
Tmp = Tmp.concat(" ");
Prart[i] = Tmp.replace(' ', '$');
}

// For Reversing the SubString(s)
for(int k=0; k<=i: K++)
{
if (K%2) == 0)
{
char Temp[] = new char[Len]
char PrPt[] = new char[Len]:
Temp = Prarrk].toCharArray();

)

H

int v=lLen-1;

29



for(j=0; j<Len; j++)
PrPt{v--] = Temp][j]:

Prarr[k] = new String(PrPt);

}

/I For Matrix Coversion
char Temp([][] = new char[Len][i+1];
for(int k:O, k<:i; k++)

{
char TempArr[] = new char[Len];
TempArr = Prarrlk].toCharArray();
for(j=0; j<Len; j++)
Temp(j][k] = TempArr[j];
}

// For getting Final Cipher Text
Cipher = new String(Temp[0]);
for(int k=1; k<Len; k++)
Cipher = Cipher.concat(new String(Templk]));

return (Cipher);

}
/* ___________________________________________________________________________ */
public int Geti()
return (i);
}
public void Seti(int p)
{
i=p;
}
/* ___________________________________________________________________________ */
public String DeCrypt()
{

String Prarr[] = new String[Len];
int k, j=0;

//'For Converting to Matrix Format
for (k=0; k<lLen-1; K++)
{
Prarr(k] = Cipher.substring(j, j+i+1 )

0
=



j+=(i+1);
}
Prarr(k] = Cipher.substringj, Cipher.tength());
char Tmp[] = new charfi];
char Temp][][] = new char[Len][i+1]
for(k=0; k<Len; k++)
{

H

Tmp = Prarr[k].toCharArray();
for(int h=0; h<i+1; h++)
Tempk][h] = Tmp[hj;
}

/I For getting Plain Text in Reverse order of SubStrings
int m=0;
char[] Tmp1 = new char[Len];
for(k=Len-1; k>=0; k--)
Tmpi[m++] = Temp[k][0]
Plain = new String(Tmp1)

)

for(j=1; j<=i; j++)

m=0;
if ((j%2)==0)
for(k=Len-1; k>=0; k--)
Tmpim++] = Temp[K][j];
else
for(k=0; k<Len; k++)
Tmpim++] = Templk][jI;

Plain = Plain.concat(new String(Tmp1))

} ,

Plain = Plain.replace('$', " ;

)

return (Plain)

3



// Program for Data Encryption Std  //
import java.io.”;
import java.sql.”;

public class DES

{
public String Plain, Cipher, Pr;
public int TRndNo, CRndNo, iVal, ¢c=0;
public int KeyArr{] = new int[2];

public DES(String C) throws Exception

{
PrPack.RandGenNo Rgn = new PrPack.RandGenNo();

TRndNo = (int)(Rgn.GetRnd()%16);
if (TRndNo == 0) TRndNo = 1;
KeyArr[c++] = TRndNo;

Rgn = new PrPack.RandGenNo();
CRndNo = (int)(Rgn.GetRnd()%1330);
KeyArr[c++] = CRndNo;

Pr=C;
}

public int[] GetArr()
{

}

public void SetArr(int[] a)
{

return(KeyArr);

TRndNo = a[0];
CRndNo = a[1];
}

public String EnCrypt() throws [OException

{
Ciphers.TransPos Tp = new Ciphers.TransPos(TRndNo, Pr):
String Temp = Tp.EnCrypt();
iVal = Tp.Geti();

Ciphers.ClsicPrdCyp Cpc;
for (inti=1; i<=16; i++)
{
Cpc = new Ciphers.ClsicPrdCyp({((CRndNo*i)%1330),
Temp);



Temp = Cpc.EnCrypt();
}

Ciphers.EncrypSwap Es = new Ciphers.EncrypSwap(Temp);
Cipher = Es.EnCrypt();
return(Cipher);

}

public String DeCrypt() throws IOException

{
Ciphers.EncrypSwap Es = new Ciphers.EncrypSwap(Cipher):
String Temp = Es.DeCrypt();

Ciphers.CisicPrdCyp Cpc;
for (int i=16; i>=1; i--)
{
Cpc = new Ciphers.CIsicPrdCyp(((CRndNo*i)%‘1 330),
Temp);
Temp = Cpc.DeCrypt();
}

Ciphers.TransPos Tp = new Ciphers.TransPos(TRndNo, Temp);
Tp.Seti(ival);
Plain = Tp.DeCrypt();
return(Plain.trim()):
}
public static void main (String h[])
{

DES s=new DES();
s.EnCrypt();
s.DeCrypt();

]
RN



/... PROGRAM FOR COMPRESSION AND DECOMPRESSION _ *///
package Ciphers;

import java.io.*;
import java.lang.*;

public class Comp

{

public int i=0,j=0,k,m,s=0,kk=0,s5=0,length,C laks=0,s1=0,rem c:

public String h, Dec;

public int Comps[]=new int [200],h1[]=new INt[250],b[]=new int [250];

public int E[]={0,1,2,3,4,5,6,7,8,9,10,11 ,12,13,14,15,16,17,18,19,20,21,22.
23,24,25,26,27,28,29,30,31,32,33,34,35,36,37,38,39,40 41 42,
43,44,45,46,47,48,49,50,51,52,53,54,55,56,57,58,59,60.61 ,52,63};

public char S[}={' LVAVBLCUDVEVEGH T UKL M N O P
QRS TULV WX Y2002 34 5 e
7,8'9%'ab e, d el g LK M
04,'pL'g s LV W XY S

public Comp()

{ }
public Comp(String pr)
{
h = pr;
Dec = new String();
}
public int[] Split()throws Exception
{

//SPLIT THE TEXT INTO CHARACTERS
k=h.length();
m=k;
length=(m/5);
for(int v=0;v<200;v++)

{

Comps]|v]=0;
}
charf]l=h.toCharArray();
do
{

if(I[il==S[j])



Comps[il=E[j;
I=i+1;
j=0;
k=k-1;
}
else  j=j+1;
twhile(k!=0):

//ICOMPRESS THE TEXT
i=0; i=0;

for (int y=0;y<250;y++)

bly]=0;
}
laks=length;

if (length!=0)
{
do
{
b[kk]:(Comps[i]<<25);i++;
blkk]=b[kk]|(Comps[i]l<<19):i++:
blkk]=b[kk]|(Comps[i]<<13);i++:
b[kk]=b[kk][(Comps[i]<<7);i++;
b[kk]=b[kk][(Comps[i]<<1):i++:
kKk=kk+1;
laks=laks-1;
twhile(laks!=0);
}
rem=(m % 5);

if(rem>0)
{
switch(rem)
{
case 1:
blkk]=Comps]i];
bIkk]=(b[kk]<<25); break;
case 2
J=b[kK]|(Comps]i]<<25);i++:
|=b[kk]|(Comps]i]<<19); break:
case 3
blkk]J=Comps][i];
blkk]=(b[kk]<<25):i++:
blkk]=b[kk]|(Comps[i]l<<19);i++:
blkk]=b[k K]|(Compsli]<<13): break:;

o]
=



case 4.
blkk]=Comps]i];
bikk]=(b[kk]<<25);i++;
bikk]=b[kk]|(Comps[i]<<19);i++;
blkk]=b[kk]|(Comps][i]l<<13);i++;
blkk]=b[kk]|(Comps][i]<<7);

}

return (b);

}

//IDECOMPRESS THE TEXT
public String decompress(int[] dec)

{
while(dec[i] = 0)  b[i++] = dec]i];

if(length !=0)
{
for( s1=0;s1<(length);s1++)
{
h1[ss]=b[s1]&2113929216;
h1[ss]=h1[ss]>>25;58++;
h1[ss]=b[s1]&33030144;
h1[ss]=h1[ss]>>19;s5++;
h1[ss]=b[s1]&516096;
h1[ss]=h1[ss]>>13;s5++;
h1[ss]=b[s1]&8064;
h1{ss]=h1[sS]>>7;55++;
h1[ss]=b[s1]&126;
h1[ss]=h1[ss]>>1;s5++;
}
}
if (rem!=0)
{
h1[ss]=b[s1]&2113929216;
h1[ss]=h1[ss]>>25;55++;
h1[ss] b[s1]&33030144;
h1[ss]=h1[ss]>>19;55++;
h1[ss]=b[s1]&516096;
h1[ss]=h1[ss]>>13;55++;
h1[ss]=b[s1]&8064;
h1[ss]=h1[sS]>>7;55++;
h1[ss]=b[s1]&126;
h1[ss]=

ss]=h1[ss]>>1;55++;

break:



if (length !=0)

{
for( c=0;c<(length*5);c++)
{
for(int ii=0;ii<63;ii++)
{
if( h1[c]==E[ii])
}
} }
//REGROUP THE CHARACTERS
C=length*5;
if (rem !=0)
{
for(c=C ;c<(C+5);c++)
{
for(int jj=0;}j<63;jj++)
{
if(h1[c]==E[jj])
}
}
}
return(Dec);

Dec += SJii];

Dec += S[jj[;



SAMPLE RESULTS
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KBMS - Knowledge Based
R Authentication REESEE=Tt Rl
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Current Uzer Cirl+ld

Logout

Exit Cirl+x
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Corversation File

167.1.1.2 sys102 hai how are u
167.1.1.3 sy=105% hi hi

i

i

i

hie

server from us to say hai

fan]

ar Dispatch






